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logLo = —0,35u)~Us7d
logM o= —0,35[y—Us4:] 2
logLa=logLo+0,02
logV2=logM-+0,02
uy=(A-550)/50

lin[Sattigung]

logVo = —0,35[i5~Uss7%

logVa= logVo+0,00
Nl
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logLo = —0,35lu\—Us7q
logM o= —0,35[i\~Us.:]%
logLa= logLo+0,02

loglf==Yog I /+0,02
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logVa= logVo+0,00
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logLo = —0,35u)~Us7d
logM o= —0,35[y—Us4:] 2
logLa=logLo+0,02
logV2=logM+0,02
uy=(A—550)/50
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lin[Sattigung]

logVo = —0,35[1,~Uss7?
logVa= logVot+0,00
[ValVo, BafVo, Ma/V]
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logLo = —0,35lu)\—Us7q
logM o= —0,35[i\~Us.:]%
logLa=logLo+0,02

loglf==Yog I /+0,02
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lin[Empfindlichkeit]

logLo = —0,35u)~Us7d
logM o= —0,35[y—Us4:] 2
logLa=logLo+0,02
logV2=logM+0,02
u,=(A-550)/50

lin[Sattigung]
logVo = —0,35[i5~Uss7%
logVa= logVo+0,00
ol
MaVo La

logLo = —0,35lu\—Us7q

logM o= —0,35Li\~Us.:]?

logLa=logLo+0,02

logVi2 = log V,+0,02
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logVa=logVy+0,00
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logLo = -0,35L)\~Us7d
logM o= —0,350)~Us4:]?
logLa=logLo+0,02
logMa= log M+0,02
u\=(A\-550)/50

lin[Sattigung]

logVo = —0,35[1~Uss72

logVa= logV,+0,00

[ValVo, N/Vo]
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|Og Lo = —0,35[1)\—L|57o]
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logLa=logLo+0,02

logM = log M §+0,02
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logLo = —0,35L)~Us7d
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logLa=logLo+0,02
logMa= logM+0,02
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lin[Sattigung]
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logVa= logV,+0,00
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Lo=-0.02 La=-0.0
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logVa=logVy+0,00
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logLo = -0,35L)~Us7d
logM o= —0,350)~Us.:]?
logLa=logLo+0,02
logMa= log M+0,02

u =(A\-550)/50

lin[Sattigung]
logVo = —0,35[1~Uss72
logVa= logV,+0,00
[ValVo, MalVq]
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logLo = —0,35L)~Us7d
logM o= —0,350)~Us.:]?
logLa=logLo+0,02
logMa= logM+0,02
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lin[Sattigung]
logVo = —0,35[1~Uss72
logVa= logV,+0,00
[ValVo, LalVo, |

Vo La
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logM o= —0,35[1~Uss]2
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logM = log M +0,02
Sattigung V
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